a Observe the bar chart and answer the questions.
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‘a What is the number of readers from the gold category?
The number of readers from the gold category is

b Calculate the total number of readers in the Nilam Programme.
The total number of readers in the Nilam Programme is

€ Calculate the difference between the number of readers
of sapphire and bronze categories.

The difference between the number of readers of sapphire
And bronze categories is

'd If 30% of the total number of readers are Year 4 pupils,
find the number of Year 4 pupils.

There are pupils of Year 4.
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